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Justification of Methods Used: 
 
When students see and work with equivalent fractions using different models, they develop a 
deeper understanding of the concept. 
 
This falls in line with Common Core. 
 
Example:  Grade 3 SBAC Practice Test (2013)   
 
5ǊŀƎ ŜŀŎƘ ŦǊŀŎǘƛƻƴ ǘƻ ǘƘŜ ŎƻǊǊŜŎǘ ƭƻŎŀǘƛƻƴ ƻƴ ǘƘŜ ƴǳƳōŜǊ ƭƛƴŜΧΦ 
 
 
 
 
 
 
 
 
 
 
 
 
 
Example:  Some images reproduced from Progressions for the Common Core State Standards 
in Mathematics (draft)  by The Common Core Standards Writing Team Sept, 2013 
 
 (Grade 3) 
 

Some Area Representations of
4

1
:   (There are more in the Progressions documents.) 

 
 
 
 
 
 
Number Line and Fraction Strips to Show Equivalency 
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Draw a line under your work or go to the next page to work with something new.  What if we 

cut, or partitioned, the pizzas into sixths?   

We Do:  How many sixths would be the same as 1 half?  (3)  Why 3? (3 is half of 6) 

 

²Ƙŀǘ ŀǊŜ ŘƛŦŦŜǊŜƴǘ ǿŀȅǎ ǘƻ ƳŀƪŜ ǎƛȄǘƘǎΚ όƻƴ ǘƘŜ ōƻŀǊŘΧύ 

 

 

 

  

 

 

 

 

 

Thumbs up if you can come up with your own ways of shading 3 sixths.  Have students make 

and share drawings.  Possible student drawings:  
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Equivalent fractions are the same value (or amount), but they look different.  We will be 

working with equivalent fractions for a while. Sometimes people say equal instead of equivalent. 
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We Do #2:  How many eighths are in 1 half?    
8

?

2

1
 





 Page 15 of 22 MCC@WCCUSD  3/11/14 

We Do:  How many thirds are in 4 sixths? 
3

?

6

4
 

 

 

 

 

 

 

 

You Try:   How many fourths are in 2 eighths? 
4

?

8

2
 

 

Other You Tries: Include the fraction pairs used in previous lessons.    You can have them do 

both bar model and number line or just number line. 

 

Stretch: How many halves are in 3 thirds? 
2

?

3

3
  Draw a bar model.   

This example draws on their understanding of 1 whole and is more challenging to draw. 

Students can draw the bar model or a different model.  They can also explain. 
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Connect Drawing, Bar Model, and Number Line 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Compare:  What is the same? What is different?  Which models are most alike? 
Evaluate:  
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Assessement: 
 
 

1) Circle all the models that are shaded 
2

1
. 

 
 
 
 
 
 
 
 

2) Shade in 
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  Warm Up 

Done?                                                              

Complete this equation:  8 x 9 = 8 × ( __ +__ ) 

Selected Response  3.OA.5 

Which expression has the same value as 

8 × 9? 

A) 8 × 3 × 3              Y N 

Y N B) 8 × (3 + 3) 

D) (8 × 6) + (8 × 3) Y N 

     C)  (8 × 5) + (8 × 4) Y N 

Review   3.NBT.2 

Find the difference using decomposition.   

Check your work with addition. 

                         

Challenge:   

   500 

395 ? 

   905 

498 ? 

Current   3.NF.2: 

A) 

B) 

C) 

  




